CIELABuU1 standard lightness L*
L* YacmL*w  nc=100,

L* CiELABUL =66 (Y/Y,)Y30-16  (¥,=18, Y,d/100<Y<=Y, )
L* (3,6)=23,L* ,(18)=50,L* (90)=97

L*,=50,0Q m,=50,24
L* ,=49,L* =50
application
range
1Y,=18
Yy =90

Yn=3.6

CIELABuU1
tristimulus value difference

Yoc=L* w nc=100,
L* CiELABUL =66 (Y/Y,)Y30-16  (Y,=18, Y,d/100<Y<=Y, )
log(dY) = (1/3,0) 1og[3,0¢,/65)] + [1-(1/3,0)] log¥)

Iog(AY)
AY

* =50, dY,;=4,58 dY,/Y,=0,2544 -~

"

application
range

L Yu=18 00y

1 Yw=90

log (AY/Y) CIELABu1
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,

L* CiELABUL =66 (Y/Y,)Y30-16  (¥,=18, Y,/ 100<Y<=Y, )

log(@Y/Y) = log[3,0(Y,/65)] - (1/3,0) log¥/Y,)

= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

Iog(dY/YF 0,59 m=—-0,33 = ~ _ -
* =50, dY,=4,58 dY,/Y,=0,2544 1

application

Z-rapge

1
1y,=18
1 Y=90

CIELABul
tristimulus value contrast

Y=L w nc=100,

L* CiELABUL =66 (Y/Y,)*30-16  (¥,=18, Y,d/100<Y<=Y, )
log(Y/dY)= - log[3,01/,/65)] + (1/3,0) log¥/Y,)

= - (1/3,0) log[3,0¢,/65)] + (1/3,0) log{)

log (Y/AY)
C,=(Y/AY)

*,=50, dY,=4,58 Y,/dY,=3
10g(Y/dY)=0,59 m,= o./33, =

iy

application
range

Y,=18
Yw=90

Yn=3.6

CIELABuUL relative standard lightnessL*/L*

Iy
Yo 0T =100}

LAL*
L* CiELABuL =66 (Y/Y,)Y30-16  (¥,=18, Y,/ 100Y<=Y,o)
L* y(3,6)=23,L* ,(18)=50,L* ,(90)=97

1 application
1 range

1y,=18
Yy=90

L* /L% J=1, my==D o~
i L*,=49 [* =50

Yn=3.6

CIELABuUL relative
tristimulus value difference

YocmL*w  nc=100,
L* CiELABuL =66 (Y/Y,)Y30-16  (¥,=18, Y,/ 100Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] loglf/Y,)

log(AY/AY,)
AYIAY,

-

* =50, dY,=4,58 dY,/Y,=0,2544 /,///

application
ange

1y, 18
5 log

YN=3.6

log [(AY/Y) I (AYIY)] CIELABuU1 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* CiELABu1 =66 (Y/Y,)Y30-16  (¥,=18, Y,/ 100Y<=Y,o)
log[(dY/Y)/(dY/Y),] = (1/3,0) log¥/Y,,)

Iog[(leY)l(dY/Y)J] 0, mu——03
L* =50, dY,=4,58 dY,/Y,=0,2544

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABuUL1 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

nc~
L* CiELABuL =66 (Y/Y,)Y30-16  (¥,=18, Y,/ 100Y<=Y)
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

application
range

Y,=18
Yw=90

YN=3.6




